3.1 Putting it all together: Simplifying Expressions

1. Multiply/Distributive Property
2. Combine like terms (CLT) - add or subtract coefficients
3. Rewrite so ferms w/variables are first (alpha order)
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—3+g—t+-4—10a—

Name

Class

—Reteachmg 2-3 Slmpllfymg Variab.

Simplify 5n + (—n — 4)(-2).

5n + (—n — 4)(-2)

=5n + (—n)(-2) — 4(-2)
=5n+2n+8
=(05+2n+8

=Tn+ 8

Expressions

Use the distributive property.
Multiply. Think of — 4(—2) as + (—4)(-2).
Use distributive property to combine like terms.
Add.

Complete each equaﬁon.

1. 9a —7a + 5
Ao+ 5

Simplify each expression.

X

0D

=k

2. 5k — 4 — 8k g
— )

-3 K -4 =

=]

Q

aa + H
5. 2(n —4) + 3
2n-5
7. 52y + 1) — Ty
¥+ 5
9. 8¢ + 5(c — 3)
|3 —1IS

11. g(-3) +3(2 + q)

Lo

13. (3)(1 —2n) +2(n + 4)

N+ 5

—lox +
6. —3(a +5) +9
—3a-b
8. 2(4—3t) — (-3) +
=44+ ||
10. —2(—4 — 3s)
os + %
12. (3 + k)(—4) — 5k
—4qK - 12
14. 9p — 3(5p + 2) + 6
— (o P

13

8T A%—Tx% - B —



